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Question Id : 92090626624 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage and answer the following Questions :-(Q01 _ 05)

Wings of Fire 15 an autobiography of Dr. APJ Abdul Kalam and covers his early life
and work in Indian space research and missile programmes. It is a simple tale of a boy
from a humble background who went on to occupy the highest seat, that of the
president of the country.

Dr. Kalam has been a key player in Indian space research / Indian missile
programmes. The book gained immense popularity in India and has been translated
into multiple languages. It is an engaging reading to say the least. However, it tends
to drag towards the end. The techmical details given therein are lost on the common
readers since they are specific to space research and missile projects.

In my opinion, the initial chapters of Wings of Fire are lovable as they describe the
quest of this young boy on the road to realizing his dreams. Another important factor
15 Dr. Kalam’'s positive thinking and outlook that resonates throughout the book.
Despite holding many high ranking poesitions in various organizations, Dr. Kalam’s
humility shines throughout like a beacon. The secret to his success 15 indeed his
ability to ignore negative things around him.

Sub questions

Question Number : 1 Question Id : 92090626625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the opposite of success:

(1) failure

(2) wvictory

(3) happiness
(4) popular

Options :

920906105201. 1
920906105202. 2
920906105203. 3
920906105204. 4

Question Number : 2 Question Id : 92090626626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The book ‘Wings of Fire’ covers:
(1) Dr. APJ Abdul Kalam’s music research

(2) Dr. APJ Abdul Kalam’s science research
(3) Dr. APJ Abdul Kalam's space research
(4) Dr. APJ Abdul Kalam's missile research

Options :

920906105205. 1
920906105206. 2
920906105207 3
920906105208. 4

Question Number : 3 Question Id : 92090626627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What do you understand about Dr. Kalam's thinking? Is it

(1) negative
(2) positive
(3) energetic
(1) boredom

Options :

920906105209. 1
920906105210. 2
920906105211. 3
920906105212. 4

Question Number : 4 Question Id : 92090626628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The secret to his success is

(1) his ability to ignore negative things.
(2) tofocus on negative things.
(3) to realize the negative things.

(1) to accept the negative things.



Options :

920906105213. 1
920906105214. 2
920906105215. 3
920906105216. 4

Question Number : 5 Question Id : 92090626629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The meaning of ‘tale’ is

(1) a story
(2) an essay
(3) a film

{4) a review

Options :

920906105217. 1
920906105218. 2
920906105219. 3
920906105220. 4

Question Id : 92090626624 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Read the passage and answer the following Questions :-(Q01 _ 05)

Wings of Fire 1s an autobiography of Dr. APJ Abdul Kalam and covers his early life
and work in Indian space research and missile programmes. It is a simple tale of a boy
from a humble background who went on to occupy the highest seat, that of the
president of the country.

Dr. Kalam has been a key player in Indian space research / Indian missile
programmes. The book gained immense popularity in India and has been translated
into multiple languages. It is an engaging reading to say the least. However, it tends
to drag towards the end. The technical details given therein are lost on the common
readers since they are specific to space research and missile projects.

In my opinion, the initial chapters of Wings of Fire are lovable as they describe the
quest of this young boy on the road to realizing his dreams. Another important factor
15 Dr. Kalam's positive thinking and outlook that resonates throughout the book.
Despite holding many high ranking positions in various organizations, Dr. Kalam’s
humility shines throughout like a beacon. The secret to his success is indeed his
ability to ignore negative things around him.

Sub questions

Question Number : 1 Question Id : 92090626625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the opposite of success:

(1) failure

(2) wictory

(3) happiness
(4) popular

Options :

920906105201. 1
920906105202. 2
920906105203. 3
920906105204. 4

Question Number : 2 Question Id : 92090626626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The book ‘Wings of Fire' covers:
(1) Dr. APJ Abdul Kalam’s music research

(2) Dr. APJ Abdul Kalam’s science research
(3) Dr. APJ Abdul Kalam’'s space research
(1) Dr. APJ Abdul Kalam's missile research

Options :

920906105205. 1
920906105206. 2
920906105207. 3
920906105208. 4

Question Number : 3 Question Id : 92090626627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What do you understand about Dr. Kalam's thinking? Is it

(1) negative
(2) positive
(3) energetic
(4) boredom

Options :

920906105209. 1
920906105210. 2
920906105211. 3
920906105212. 4

Question Number : 4 Question Id : 92090626628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The secret to his sueccess 1s

(1) his ability to ignore negative things.
(2) to focus on negative things.
(3) torealize the negative things.

(4) to accept the negative things.

Options :
920906105213. 1



920906105214. 2
920906105215. 3
920906105216. 4

Question Number : 5 Question Id : 92090626629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The meaning of ‘tale’ is

(1) a story
(2) an essay
(3 afilm

(4) a review

Options :

920906105217. 1
920906105218. 2
920906105219. 3
920906105220. 4

Sub-Section Number : 2
Sub-Section Id : 920906857
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090626630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct form of verb to fill in the blank.
This work up by you now.

(1) can taken

(2) can’t taken

(3) could be taking
(4) can’t be taking

Options :

920906105221. 1
920906105222. 2
920906105223. 3
920906105224. 4



Question Number : 6 Question Id : 92090626630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct form of verb to fill in the blank.

This work up by you now.
(1) ecan taken
(2) can’t taken
(3) could be taking
(4) can’t be taking
Options :

920906105221. 1
920906105222. 2
920906105223. 3
920906105224. 4

Question Number : 7 Question Id : 92090626631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the four options given, choose the correct sequence given below, to make a
meaningful sentence:

A.
B.
C
D.

the tangled oak treetops that you can barely see the sky
moss and licher drip so thickly from
in the southwest of England

in Wistman's Wood in Dastmoor National Park

Choose the correct answer from the options given below :

(1) ABCD

(2) D,CBA

(3) B,D.AC

4 CADB
Options :

920906105225. 1
920906105226. 2
920906105227. 3
920906105228. 4



Question Number : 7 Question Id : 92090626631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the four options given, choose the correct sequence given below, to make a
meaningful sentence:

A. the tangled oak treetops that you can barely see the sky
B. moss and licher drip so thickly from
£ in the southwest of England

D. in Wistman's Wood in Dastmoor National Park

Choose the correct answer from the options given below :

(1f KB GCDH

(2) D,CBA

(3) B,D,AC

4 C,ADB
Options :

920906105225. 1
920906105226. 2
920906105227. 3
920906105228. 4

Question Number : 8 Question Id : 92090626632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identity the meaning of the underlined idiom from the options given.
At school, Neha is always in high spirit.
(1) laughing

(2) uncontrollable
(3) talkactive
(4) cheerful

Options :

920906105229. 1
920906105230. 2
920906105231. 3
920906105232. 4



Question Number : 8 Question Id : 92090626632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identity the meaning of the underlined idiom from the options given.
At school, Neha is always in high spirit.
(1) laughing

(2) uncontrollable
(3) talkactive
(4) cheerful

Options :

920906105229. 1
920906105230. 2
920906105231. 3
920906105232. 4

Question Number : 9 Question Id : 92090626633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a one — word substitute for ‘the art of beautiful
handwriting"?

(1) epigraphy
(2) castography
(3) topography
(4) calligraphy

Options :

920906105233. 1
920906105234. 2
920906105235. 3
920906105236. 4

Question Number : 9 Question Id : 92090626633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one — word substitute for ‘the art of beautiful
handwriting"?

(1) emgraphy

(2) castography

(3) topography

(4) calligraphy

Options :

920906105233. 1
920906105234. 2
920906105235. 3
920906105236. 4

Question Number : 10 Question Id : 92090626634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonyms for ‘obstreperous™

(1) objectionable
(2) syecophantic
(3) disruptive

(1) obsequions

Options :

920906105237. 1
920906105238. 2
920906105239. 3
920906105240. 4

Question Number : 10 Question Id : 92090626634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonyms for ‘obstreperous™
(1) objectionable

(2) sycophantic

(3) disruptive

(1) obsequions

Options :



920906105237. 1
920906105238. 2
920906105239. 3
920906105240. 4

Question Number : 11 Question Id : 92090626635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 5tan # =12, then find the value of cos#—sin#:

Gy
@ =
3) —1%
@ =

Options :

920906105241. 1
920906105242. 2
920906105243. 3
920906105244. 4

Question Number : 11 Question Id : 92090626635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 5tan # =12, then find the value of cos@—-sin#:

iy
) ﬁ
3) —1%
@ =

Options :

920906105241. 1
920906105242. 2



920906105243. 3
920906105244. 4

Question Number : 12 Question Id : 92090626636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an office 60% of the staffs are male. In an election in the office, 40% of the females
and 60% of the males voted for Anju. The percentage of votes Anju got was:

(1) 42%
(2) 50%
(3) 52%
(1) 54%
Options :

920906105245. 1
920906105246. 2
920906105247. 3
920906105248. 4

Question Number : 12 Question Id : 92090626636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an office 60% of the staffs are male. In an election in the office, 40% of the females
and 60% of the males voted for Anju. The percentage of votes Anju got was:

(1) 42%
(2) 50%
(3) 52%
(1) 54%
Options :

920906105245. 1
920906105246. 2
920906105247. 3
920906105248. 4

Question Number : 13 Question Id : 92090626637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A is twice as good a workman as B. Together they finish a piece of work in 24 days.
In how many days B alone can finish the work?

(1) 36
(2) 54
(3) 72
(1) 90
Options :

920906105249. 1
920906105250. 2
920906105251. 3
920906105252. 4

Question Number : 13 Question Id : 92090626637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A is twice as good a workman as B. Together they finish a piece of work in 24 days.
In how many days B alone can finish the work?

(1) 36
(2) 54
(3) 72
(4) 90
Options :

920906105249. 1
920906105250. 2
920906105251. 3
920906105252. 4

Question Number : 14 Question Id : 92090626638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The incomes of A and B are in the ratio 2:3 and their expenditures are in the ratio
4:5. If their savings are T 9,000 and T 17,500 respectively, then find the income of A.
(1) 12,500

(2) ¥ 25,000

(3) ¥ 37,500

(4) % 50,000



Options :

920906105253. 1
920906105254. 2
920906105255. 3
920906105256. 4

Question Number : 14 Question Id : 92090626638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The incomes of A and B are in the ratio 2:3 and their expenditures are in the ratio
4:5. If their savings are T 9,000 and T 17,500 respectively, then find the income of A.

(1) 12,500
(2) 2 25,000
(3) 37,500
(4) % 50,000

Options :

920906105253. 1
920906105254. 2
920906105255. 3
920906105256. 4

Question Number : 15 Question Id : 92090626639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nitin sells two articles for T 4,000 each with no profit, no loss in the whole
transaction. If one was sold at a gain 25%, then the other 15 sold at a loss of:

(1) 200

Options :

920906105257.
920906105258.
920906105259.
920906105260.

AW N =



Question Number : 15 Question Id : 92090626639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nitin sells two articles for ¥ 4,000 each with no profit, no loss in the whole
transaction. If one was sold at a gain 25%, then the other is sold at a loss of:

1) 20%
gL
@ 185%

2
3) 16-%

3
4) 15 i %o

Options :

920906105257. 1
920906105258. 2
920906105259. 3
920906105260. 4

Question Number : 16 Question Id : 92090626640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If in a certain language, CHIRCAR is coded as 3214384 and CROADS is coded as
345867, how is the word HARIROADS coded in that language?

(1) 812448567
(2) 281448576
(3) 284145867
(1) 285154876

Options :

920906105261. 1
920906105262. 2
920906105263. 3
920906105264. 4

Question Number : 16 Question Id : 92090626640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If in a certain language, CHIRCAR is coded as 3214384 and CROADS is coded as
345867, how 1s the word HARIROADS coded in that language?

(1) 812448567

(2) 281448576

(3) 284145867

(4) 285154876

Options :

920906105261. 1
920906105262. 2
920906105263. 3
920906105264. 4

Question Number : 17 Question Id : 92090626641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the angle between the hands of a clock when the time is 30 min past 3.

(1) 650
(2) 750
(3) 850
(4) 1050

Options :

920906105265. 1
920906105266. 2
920906105267. 3
920906105268. 4

Question Number : 17 Question Id : 92090626641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the angle between the hands of a clock when the time is 30 min past 3.

(1) 65
(2) 750
(3) 850
(4) 1050

Options :



920906105265. 1
920906105266. 2
920906105267. 3
920906105268. 4

Question Number : 18 Question Id : 92090626642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct water — image of the given combination:

“VAYUB8436”

() AVANB4EQ
(2) AVANBY39
3 AVANBT3Q
(4) AVANGTER

Options :

920906105269. 1
920906105270. 2
920906105271. 3
920906105272. 4

Question Number : 18 Question Id : 92090626642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct water — image of the given combination:

“VAYUB8436”

() AVANB4EQ
(2 AVANB¥39
3 AVANBT3Q
4 AVANBTEQ

Options :

920906105269. 1
920906105270. 2
920906105271. 3
920906105272. 4



Question Number : 19 Question Id : 92090626643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct mirror image of the figure (X):

m,

m;

Figure (X)

@ | 3

® |

@ |3
Options :

920906105273. 1
920906105274. 2
920906105275. 3
920906105276. 4

Question Number : 19 Question Id : 92090626643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct mirror image of the figure (X):

m,

m;

Figure (X)

(1)

@ | O

® |

@ |
Options :

920906105273. 1
920906105274. 2
920906105275. 3
920906105276. 4

Question Number : 20 Question Id : 92090626644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One 1s labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Hot air balloon rises up in sky, because hot air is less dense
then cold air.

Reasons (R): Volume of a gas incresess on heating.

In the light of the above statements, choose the most appropriate answer from the
options given below:

(1)  Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A).
(3)  (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

Options :

920906105277. 1
920906105278. 2
920906105279. 3
920906105280. 4

Question Number : 20 Question Id : 92090626644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Hot air balloon rises up in sky, because hot air is less dense
then cold air.

Reasons (R): Volume of a gas incresess on heating.

In the light of the above statements, choose the most appropriate answer from the
options given below:

(1)  Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
(3) (A) 1s correct but (R) is not correct.

(4)  (A)is not correct but (R) is correct.

Options :

920906105277. 1
920906105278. 2
920906105279. 3



920906105280. 4

Question Number : 21 Question Id : 92090626645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Golden Quadrilateral projects for the development of National Highways was
initiated by

(1) P.V.Narasimha Rao

(2) LK. Gural
(3) Manmohan Singh
(4) Atal Bihari Vajpayvee

Options :

920906105281. 1
920906105282. 2
920906105283. 3
920906105284. 4

Question Number : 21 Question Id : 92090626645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Golden Quadrilateral projects for the development of National Highways was
initiated by

(1) P.V. Narasimha Rao

(2) LK. Gujral
(3) Manmohan Singh
(1) Atal Bihari Vajpavee

Options :

920906105281. 1
920906105282. 2
920906105283. 3
920906105284. 4

Question Number : 22 Question Id : 92090626646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements -

Statement [ : Alauddin Khilji adopted the policy of blood and iron in
tackling the mongols.

Statement I[I : Amir Khusrau and Mir Hassan Dehlvi were the poets of
Alauddin Khilji court.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement Il are true.

(2) Both Statement I and Statement II are false.

(3) Statement [ is true but Statement Il is false.

(1)  Statement I is false but Statement II is true.

Options :

920906105285. 1
920906105286. 2
920906105287. 3
920906105288. 4

Question Number : 22 Question Id : 92090626646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement [ : Alauddin Khilji adopted the policy of blood and iron in
tackling the mongols.

Statement [1 : Amir Khusrau and Mir Hassan Dehlvi were the poets of
Alauddin Khilj court.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true.

(2)  Both Statement [ and Statement II are false.

(3) Statement I is true but Statement Il is false.

(1)  Statement I is false but Statement I is true.

Options :

920906105285. 1
920906105286. 2
920906105287. 3



920906105288. 4

Question Number : 23 Question Id : 92090626647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following pairs is NOT properly matched?

(1) Relianece — Mukesh Ambani
(2) Wipro — R. Krishna Murthy
(3) Airtel — Bharti Mittal

(4) Nano car — Ratan Tata

Options :

920906105289. 1
920906105290. 2
920906105291. 3
920906105292. 4

Question Number : 23 Question Id : 92090626647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following pairs is NOT properly matched?

(1) Reliance — Mukesh Ambani
(2) Wipro - R. Krishna Murthy
(3) Airtel — Bharti Mittal

(4) Nano car — Ratan Tata

Options :

920906105289. 1
920906105290. 2
920906105291. 3
920906105292. 4

Question Number : 24 Question Id : 92090626648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I -

(A)
(B)
(€)
(D)

List I (Books)
Unhappy India
India Divided

The Discoveryof India
Ghulam Giri

List IT (Author)
(I) Jawaharlal Nehru
(II) Lala Lajpat Rai
(I1I) Jyotiba Phule
(IV) Rajendra Prasad

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

A-(ID), B-(IV), C-(D), D-(I1D)
A-(IT), B-(IV), C-(I11), D-(I)
A-(IV), B-(IT), C-(I), D-(IIT)
A-(ID), B-(IV), C-(I), D-(ID)

Options :

920906105293. 1
920906105294. 2
920906105295. 3
920906105296. 4

Question Number : 24 Question Id : 92090626648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I -

(A)
(B)
(€)
(D)

List I (Books)
Unhappy India
India Divided

The Discoveryof India
Ghulam Giri

List IT (Author)
(I) Jawaharlal Nehru
(II) Lala Lajpat Rai
(I1I) Jyotiba Phule
(IV) Rajendra Prasad

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

A-(ID), B-(IV), C-(D), D-(I1D)
A-(IT), B-(IV), C-(I11), D-(I)
A-(IV), B-(IT), C-(I), D-(IIT)
A-(ID), B-(IV), C-(I), D-(ID)

Options :
920906105293. 1
920906105294. 2



920906105295. 3
920906105296. 4

Question Number : 25 Question Id : 92090626649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Instrument used to study the behavior of a vibrating string is
(1)
(2) Sonometer
3)
1)

Hygrometer

Barometer

—

Hydrometer

(

Options :

920906105297. 1
920906105298. 2
920906105299. 3
920906105300. 4

Question Number : 25 Question Id : 92090626649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Instrument used to study the behavior of a vibrating string is

(1) Hygrometer

(2) Sonometer

(3) Barometer

(1) Hydrometer
Options :

920906105297. 1
920906105298. 2
920906105299. 3
920906105300. 4

Part B: Anthropology
Section Id : 920906528
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906858
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090626650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Neo-Lamarckian Scientists opined that 'adaptations’ are universal and it
happens through causal relationship of:

1. Structure, function and environment
2. DNA, genes and chromosomes

3. Shape, size and usability

4. Fertility, mortality and morbidity

Options :

920906105301. 1
920906105302. 2
920906105303. 3
920906105304. 4

Question Number : 26 Question Id : 92090626650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I9-dHThdId! AP &1 0d Ul [ 'SP Ideib gadid__ &
HRUNHS Tl & A1egd T 8d 8

G¥EAT, BT auT ugiau

. 8. UF. T, o qu1 urgd

3P, HTHY TYUT IULNT

. JAYFHdI, YA YT Tl

b P =

Options :
920906105301. 1
920906105302. 2



920906105303. 3
920906105304. 4

Question Number : 27 Question Id : 92090626651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Neo-Darwinism, what is the prime source of variation in a
population?

1. Mutation

2. DNA Polymerase reaction

3. Mitochondrial Divergence

4. DNA Proof reading and Repair

Options :

920906105305. 1
920906105306. 2
920906105307 3
920906105308. 4

Question Number : 27 Question Id : 92090626651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d- Sifd-1d1g & YR S H fafi=ar &1 Jd Wid &1 87
1. IdaRada
2. S1. U T UleiHy SfHfshan

3. AIEcIdiaal & 3UTR]
4. 31 U U &I y@A1 a1 ufagfd

Options :

920906105305. 1
920906105306. 2
920906105307. 3
920906105308. 4

Question Number : 28 Question Id : 92090626652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is Synthetic Theory of Evolution?

—

A theory that describes the process by which new species arise

2. A theory that combines the ideas of natural selection and genetics
3. A theory that explains the origin of life on earth
4

. A theory that describes the structure and evolution of DNA

Options :

920906105309. 1
920906105310. 2
920906105311. 3
920906105312. 4

Question Number : 28 Question Id : 92090626652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wH- fAepw & RRifes @wifey) g @ 82
1. U 0T gl ot 93 e &1 Safy &1 ufshar &1 faawur 2an g
2. U U1 FGid S Uidhd 944 Ul HdRdIE & [daRi &1 416 3l &
3. U9 U1 FGid & gl W) SitaH &1 Ik i ars Sl @
4. % U1 figid off 31, v4. U Y O3eH ayl FH fae &1 fawu 3ar @

Options :

920906105309. 1
920906105310. 2
920906105311. 3
920906105312. 4

Question Number : 29 Question Id : 92090626653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following nitrogenous bases is NOT found in DNA?
1. Adenine
2. Guanine
3. Uracil
4

. Thymine



Options :

920906105313. 1
920906105314. 2
920906105315. 3
920906105316. 4

Question Number : 29 Question Id : 92090626653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafifad @ 9 ®19 91 AEereH! &% S1.UA.T H gl Rl
1. T8AH
2. WA
3. QR
4. 4ygHHA
Options :

920906105313. 1
920906105314 2

920906105315. 3
920906105316. 4

Question Number : 30 Question Id : 92090626654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the role of ribosome in protein synthesis?

a=mb

To synthesize RNA

2. To bind to DNA during transcription

3. To carry amino acids to the growing protein chain
4

. To link amino acids together to form a protein

Options :

920906105317. 1
920906105318. 2
920906105319. 3
920906105320. 4

Question Number : 30 Question Id : 92090626654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

T e 7 A3 B a1 YT 82
1. 3R, UH. U ST GUAY0] HAl
2. 3 IEF B SR SLTAT BT FeFAT
3. dgdl g3 UIcH @1 g@a # sl 3l &l ugam
4. UIEH 9F & fog ofi T 3l &1 IRER ddg S

Options :

920906105317. 1
920906105318. 2
920906105319. 3
920906105320. 4

Question Number : 31 Question Id : 92090626655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Heteroploidy refers to the condition where an organism has an abnormal
number of which of the following?

1. Antigens

2. Chromosomes

3. Antibodies

4. Proteins
Options :
920906105321. 1
920906105322. 2
920906105323. 3
920906105324. 4

Question Number : 31 Question Id : 92090626655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e T[fore (Redwitad)) v t R R R s i &t eram
T T, Sl § |

1. U=CtaH

2. TR

3. TAEra

4. UIeH



Options :

920906105321. 1
920906105322. 2
920906105323. 3
920906105324. 4

Question Number : 32 Question Id : 92090626656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is true about linked genes?
1. They are located on the same chromosome
They are located on different chromosomes

They always cause diseases

et

They are always inherited separately

Options :

920906105325. 1
920906105326. 2
920906105327. 3
920906105328. 4

Question Number : 32 Question Id : 92090626656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gead ol & favg # Fg H 4 1 9d 87

1. 98 U & VR W fafyd 81 §
2. U faftE oRE R safRyd gid §
3. Ug ghe o Yar o &

4. U% Y&l 9Y® %9 9 9N 8id &

Options :

920906105325. 1
920906105326. 2
920906105327. 3
920906105328. 4

Question Number : 33 Question Id : 92090626657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following describes the genetic constitution a population?
1. Genotype
2. Phenotype
3. gene pool
4

Mutation rate

Options :

920906105329. 1
920906105330. 2
920906105331. 3
920906105332. 4

Question Number : 33 Question Id : 92090626657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faeil S &1 SEfIe Hued &1 auiH [y & 9 &9 &1 82
1. (GHIEEY) S 4%y

2. (WIFEEY) e
3. ST

4, AN BT

Options :

920906105329. 1
920906105330. 2
920906105331. 3
920906105332. 4

Question Number : 34 Question Id : 92090626658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many rounds of cell-division occur during meiosis?
1. One
2. Two
3. Three

4. Four

Options :



920906105333. 1
920906105334. 2
920906105335. 3
920906105336. 4

Question Number : 34 Question Id : 92090626658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR fqureF H S1fReT faureH & fvaa (smad=) 9 8ld &2
1. P

@
=
EIE

AW

Options :

920906105333. 1
920906105334. 2
920906105335. 3
920906105336. 4

Question Number : 35 Question Id : 92090626659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Baboons and Macaques are:
1. Old World monkeys
2. New World monkeys
3. Intermediate world monkeys
4. Extinct monkeys
Options :
920906105337. 1
920906105338. 2

920906105339. 3
920906105340. 4

Question Number : 35 Question Id : 92090626659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A auHesd_ gl
1. W& & dFR
2. Ay-fay & amw
3. Head (9% & 9
4, faqu IR

Options :

920906105337. 1
920906105338. 2
920906105339. 3
920906105340. 4

Question Number : 36 Question Id : 92090626660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Cranium of Australopithecus africanus was discovered by:
1. Raymond Dart
2. Robert Broom
3. Eugene Dubois
4

Davidson Black

Options :

920906105341. 1
920906105342. 2
920906105343. 3
920906105344. 4

Question Number : 36 Question Id : 92090626660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S AURUHY TBIH-H BT HUld [HHd GRI Gl 7T 417
1. YHUE S1E
2. G 5|
3. JolH SEHd
4. SfasH =id

Options :



920906105341. 1
920906105342. 2
920906105343. 3
920906105344. 4

Question Number : 37 Question Id : 92090626661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The village of La Chapelle-aux-Saints in central France is famous for the
discovery of fossil remains related to:

1. Neanderthals

2. Proconsul major

3. Australopithecus afarensis
B

Grimaldi man

Options :

920906105345. 1
920906105346. 2
920906105347. 3
920906105348. 4

Question Number : 37 Question Id : 92090626661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & A9 HRTH o1 I9d-Hd9-T=< &1 7119 -9 7 § [Gud sr@eml &1 @
& fom ufdrg 8

1. Foasy@

2. H& giafgd

3. SRS MBI

4. AT Yoy

Options :

920906105345. 1
920906105346. 2
920906105347. 3
920906105348. 4

Question Number : 38 Question Id : 92090626662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is Not an anthropometric index?
1. Body Mass Index (BMI)
2. Waist to Hip Ratio (WHR)
3. Arm to Height Ratio (AHR)
4

Blood Pressure Index (BPI)

Options :

920906105349. 1
920906105350. 2
920906105351. 3
920906105352. 4

Question Number : 38 Question Id : 92090626662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 7§ S I WHafAfd gadis T 82
1. S8 A 3359 (BMI)
2. TAdd &1 HHR ¥ U BT dbid (WHR)
3. Yol ¥ A5 & SFUTd &1 Gadid (AHR)
4. Tad 9 YAB1D (BPI)

Options :

920906105349. 1
920906105350. 2
920906105351. 3
920906105352. 4

Question Number : 39 Question Id : 92090626663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is the longest bone in human body?
1. Femur

2. Tibia

3. Fibula

4. Ulna



Options :

920906105353. 1
920906105354. 2
920906105355. 3
920906105356. 4

Question Number : 39 Question Id : 92090626663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A TRR & a8 ol offy 19 W@ 82
1. IR
2. fefemn
3. fthgan

4. Sl

Options :

920906105353. 1
920906105354. 2
920906105355. 3
920906105356. 4

Question Number : 40 Question Id : 92090626664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The gradual deterioration of functional characteristics of humans is called:

1. Renascence
2. Adolescence
3. Senescence
4. Decadescence

Options :

920906105357. 1

920906105358. 2

920906105359. 3
920906105360. 4

Question Number : 40 Question Id : 92090626664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A4l & HTaTHS T&01 & HiS g B 71 Ped o7
1. YoifaA
2. famrawn
3. gEIaRl
4, SHTSH

Options :

920906105357. 1
920906105358. 2
920906105359. 3
920906105360. 4

Question Number : 41 Question Id : 92090626665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: Human evolution is characterized by bipedalism which is the
ability to walk on two legs

Reason R: Bipedalism is unique to humans and is believed to have evolved
around 4 million years ago as a response to the changes in environment

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

Options :

920906105361. 1
920906105362. 2
920906105363. 3
920906105364. 4

Question Number : 41 Question Id : 92090626665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

9 T Y RU TN §: U 3AHFHYA (Assertion A) F ¥4 H foifad § ol g¥R1 3UF
RO (Reason R}a‘TWﬁ;

Y A: HFE & Hifd e &1 fg-ured gR1 sifienafims a7 g,
ot o g <1 21§ Ie P &l

HRUI R: f§- UTedl AFG] &1 T i d&or § o et 4 fferas ad
waiaRu 7 31U uftad= & e g3 srferar & u § g fasr | S 8|
SWRIFd HYA & 3l |, Ad fAU T fahedl § ¥ 998 Iugad I &1 994
PifoTe:

A 3R R ST Ug1 & IR R, A B Uel AR &

A 3R R 1 81 § IR R, A &1 Tl IR 181 @
A TS & Afp R G TR

ATEN el g AfFTR U

Fo W B -

Options :

920906105361. 1
920906105362. 2
920906105363. 3
920906105364. 4

Question Number : 42 Question Id : 92090626666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: The volume of cranium has undergone significant decrease in
prolonged course of evolutionary history of humans

Reason R: The increase in brain size and complexity is linked to the
development of language and the ability to use tools

In the light of the above statements, choose the correct answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. Ais not correct but R is correct

Options :
920906105365. 1



920906105366. 2
920906105367. 3
920906105368. 4

Question Number : 42 Question Id : 92090626666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 ¢ Sy QU T §: U S (Assertion A) & %9 T fAIRad & i g¥RT 39S
HRU (Reason R}%Wﬁ;

P YT A: A4l & B e & avd ider § Surd & iaa- § srfguf
e ang B

HRUT R A% & UMY H gfg a1 Sifeear 1 & faery ayr iRl &1
YN H3- TGl & [AHT & 1Y Heiferd g

JURI HY & 3fTeie H, i AU M fab el 7 9 el Iuge I &1 994

EAIELE

A 3R R T T8I & 3TR R, A T TE RS 8

A 3R R T U8l & 3R R, A BT UL ouren 4T &
AUE 2 AP R A TET 2

A TE el B AfPT R UET R

B o=

Options :

920906105365. 1
920906105366. 2
920906105367. 3
920906105368. 4

Question Number : 43 Question Id : 92090626667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following hominid fossils in chronological order from the earliest
to the most recent:

A. Homo erectus
Australopithecus afarensis
Neanderthals

Cro-Magnon

m o N

Homo sapiens

Choose the correct answer from the options given below:
1. B.C.AxD E

C.B.ADE

B.A.CDE

C.A,B,.DE

- ol S

Options :

920906105369. 1
920906105370. 2
920906105371. 3
920906105372. 4

Question Number : 43 Question Id : 92090626667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafeiad endiAs @ siaredl &1 U= 3 9di909 96 SAFER Jafd Hi
A. BHI3YaeH

B. RIS HHRFTH

c. FuTeya

D. - BUH

E. g A9 (@)

19 feu v fashedl @ ¥ 9 IUge 9T &1 99 Hifois:
B,C,ADE

C.B,ADE

B,ACDE

C, A BDE

P 1D P e

Options :
920906105369. 1
920906105370. 2



920906105371. 3
920906105372. 4

Question Number : 44 Question Id : 92090626668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following scientists related to biological/ physical anthropology
in a sequence based on their time period, starting from the earliest:

A. Charles Darwin
B. Gregor Mendel

C. Louis Leakey

D. Jane Goodall

E. Jean Bapitiste Lamarck

Choose the correct answer from the options given below:

1. €:B.A B E

2. BBCAED

3. EABCD

4 C ABDE
Options :

920906105373. 1
920906105374. 2
920906105375. 3
920906105376. 4

Question Number : 44 Question Id : 92090626668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UTdHaH & UR™ a3 Fofifad shafdsy IRiR® ArafdeE 3 it
D! Bl ITD! GHANATR S FUMER Hafedd o1

. 9red 3IfdA

TR Asd

. s ol

. O ST

. SiF SmafeR T

13 fau e faered] 9§ 9ed Suge IR &1 994 HIfo:
C,B,ADE

B.C,A ED

EABCD

C,A B DE

p—

m Qo MW

o o

Options :

920906105373. 1
920906105374. 2
920906105375. 3
920906105376. 4

Question Number : 45 Question Id : 92090626669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: In the evolutionary history of Homo sapiens, Neanderthals were
relatively more developed than archaic humans

Statement II: In the evolutionary history of Homo sapiens, Neanderthals
were relatively less developed than Homo erectus

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement |l is correct
Options :

920906105377. 1
920906105378. 2



920906105379. 3
920906105380. 4

Question Number : 45 Question Id : 92090626669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T HyF R &

HYA 8H ({Ha) A= & BiE faer & 3faem § QUi aFdl &1
3(q&T TSIy d sffde fdhfd 4|

Y |I: FHRATEH ({F49) F HiF e & Ifae §, FueSyd g9 3iaed
®1 30 HH [9HRT 91

JRIF HYA & i |, A G0 T fdwdl 7 J 981 IR &1 994 i

1. B R A EE &

2. BYF | 3R 11 &1 TTad §

3. YA IS g, AfpA FUA 11 Tad &

4. BYF | TTAd §, Afchd $YF 1| T8l §
Options :

920906105377. 1
920906105378. 2
920906105379. 3
920906105380. 4

Question Number : 46 Question Id : 92090626670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement |: The size of chimpanzee's brain is equal to that of Homo sapiens

Statement Il: Among primates, chimpanzees are the closest living relatives
of Homo sapiens

In the light of the above statements, choose the correct answer from the
options given below:

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false

3. Statement | is true but Statement 1l is false

4. Statement | is false but Statement Il is true



Options :

920906105381. 1
920906105382. 2
920906105383. 3
920906105384. 4

Question Number : 46 Question Id : 92090626670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MRS

FYF |; ool & AiET=s &1 3TH 84 ({@F9) Y991 & AT & sRIa aidl
gl

U |1: TR R Uil H i, 819 (\g) ftg=g & 998 Avidie! sifdd
et g1

I HYF & AHaid H, A1 f2u 10 9wl 1 9 98 IR &1 994 Sifen:

1. Y ISR I TG

2. BYAI SR I SHl EA §

3. BYF | HA 8, Afp- SYUA 11 3 8§

4. BYF| TT g, Al YT 11 I ©
Options :

920906105381. 1
920906105382. 2
920906105383. 3
920906105384. 4

Question Number : 47 Question Id : 92090626671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?
A. Race is a social construct
B. Racism is closely linked to genetic variation
C. There is no scientific basis for differentiating among human stocks
D. Racism helps in understanding differences among human stocks
E. Genetics has proved that discriminatory attitudes are due to linked genes
Choose the correct answer from the options given below:

1. B, D, Eonly

2. Aand Conly

3. A B Eonly

4. B, C Eonly

Options :

920906105385. 1
920906105386. 2
920906105387. 3
920906105388. 4

Question Number : 47 Question Id : 92090626671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FofaRad o § 14 4 94 981 €2
A. TSI U gl ST 8
B. USTIfadIg &1 TR fafiredl & 9y Tocia! Gay g
C. HFd 39 ¥ fafe &3 &1 &13 a9 YR T8 81
D. A4 9% &1 faftmransi &1 gusH # usiidde e ¢l
E. IR §R1 48 YA g1l § & HeHesd <figf o1 Secwal &
HRU Bl g
+ia fRu U fasheul # 9@ 9&Q Iugad IR &1 994 Difald:
1. &ddB, D, E
2. Pad AR C
3. BddA, B, E
4. &dd B, C E

Options :
920906105385. 1
920906105386. 2



920906105387. 3
920906105388. 4

Question Number : 48 Question Id : 92090626672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are correct?

A. Charles Darwin opposed the idea of Genetic equilibrium
B. Law of Segregation was proved wrong by Gregor Mendel
C. Human gametes contain 23 chromosomes

D. Neanderthals were bipedal

Choose the correct answer from the options given below:

1. Aand D only
2. Band D only
3. Cand D only
4. Aand C only

Options :

920906105389. 1
920906105390. 2
920906105391. 3
920906105392. 4

Question Number : 48 Question Id : 92090626672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fofafed # 3 $19 91/ 1e 8/8?
A. 91cd SMfdH 7 dRIG dqad & °d &1 a1y faan|

B. IR Hed gRI Jyah vl & Rigid &1 7ad R faan
C. HFd gHSI | 23 TREFEd 8!
D. FAgvyma feudt 91
12 AU U faeul 7 € ¥ad Suged IO F1 99 HifelT:
1. %ad A 3R D
2. ®ad B3R D
3. ®ad C3RD
4, A ARC

Options :

920906105389. 1
920906105390. 2
920906105391. 3
920906105392. 4

Question Number : 49 Question Id : 92090626673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST I LIST I
A. Karl Landsteiner l. Genetic Variation
B. Hardy-Weinberg ll. Human Somatotype
C. Raymond Dart IIILABO Blood Groups

D. William Herbert Sheldon  IV.Australapithecus africanus
1. A-l, B-ll, C-lI, D-IV
2. A-IV, B-ll, C-1lI, D-
3. A-lli, B-l, C-Iv, DAl
4. A-ll, B-1v, C-1, D-lll
Options :
920906105393. 1
920906105394. 2

920906105395. 3
920906105396. 4



Question Number : 49 Question Id : 92090626673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il | 1 g 1 9 e S

kSl Sl
A. [BTd SRR W RCECACRERI
B. [gTS! aTart II. A SRR
C. RHUS 81¢ I11. JABO & THg
D. [[aferaH BReC Aes| V. [HIRTATIIS D SipbldhTy
1. A-l, B-lI, C-lll, D-IV
2. A-IV, B-lI, C-lll, D-|
3. A-lll, B-I, C-IV, D-li
4. A-ll, B-IV, C-1, D-lll

Options :

920906105393. 1
920906105394. 2
920906105395. 3
920906105396. 4

Question Number : 50 Question Id : 92090626674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST | LIST Il
A. 5-shaped spine I. Java man
B. Protruding Jaw Il. Acceleration of Maturation
C. Bipedalism lll.Homo sapiens
D. Secular Trend IV.Australopithecines

1. A-l, B-II, C-lll, D-IV
2. A-ll, B-l, C-IV, D-llI
3. A-l B-lll, C-ll, D-IV
4. A-ll, B-1V, C-1, D-lI

Options :
920906105397. 1



920906105398. 2
920906105399. 3
920906105400. 4

Question Number : 50 Question Id : 92090626674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | 1 g 1 e S

| SElil
A. [5-3MTPR drdl HEgUg| | [dmar °rHd
B. [afefdy Saal II. [aRd aiusA
C. ffg- ofean |11, EHRTtE= (#a)
D. glu@ia® ugha | Iv. [BiReTaug IRk
1. A-l, B-Il, C-lll, D-IV
2. A-ll, B-l, C-IV, D-lIl
3. A-l, B-lll, C-ll, D-IV
4. A-lll, B-IV, C-I, DI
Options :

920906105397. 1
920906105398. 2
920906105399. 3
920906105400. 4

Question Number : 51 Question Id : 92090626675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The concept of Great tradition and little tradition as bipolar model of
civilization was given by:

1. Robert Redfield
2. M. C. Burkit
3. Edmund Leach
4. Levi-strauss

Options :

920906105401. 1
920906105402. 2
920906105403. 3
920906105404. 4



Question Number : 51 Question Id : 92090626675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tual & Tgydia Alsd & ¥ # 7 U0 ayT FH AR &1 sfayron fead
gRId TS 82

1. Jac vSPhies

2. A, gfbe

3. UgHs ™

4. odl ¥

Options :

920906105401. 1
920906105402. 2
920906105403. 3
920906105404. 4

Question Number : 52 Question Id : 92090626676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which tribe in India is largest in terms of population size?
1. Gond

2. Gaddi

3. Raji

4. Bhil

Options :

920906105405. 1

920906105406. 2

920906105407. 3
920906105408. 4

Question Number : 52 Question Id : 92090626676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TTHE & HER F HeH # HRd &1 HH I Fold gy it S= | g7

TEE

Options :

920906105405. 1
920906105406. 2
920906105407. 3
920906105408. 4

Question Number : 53 Question Id : 92090626677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the constitutional provision to provide special financial assistance for
Tribal Welfare?
1. Article 342
2. Article 275 (1)
3. Article 365
4. Article 30

Options :

920906105409. 1
920906105410. 2
920906105411. 3
920906105412. 4

Question Number : 53 Question Id : 92090626677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SeTfadl & dearul & fore ARy onfie werar uem &3 & fou Jaus
TG &1 87

1. g 342
2. TG 275 (1)
3. 3J=q 365
4. 3IE5¢ 30

Options :



9209061054009. 1
920906105410. 2
920906105411. 3
920906105412. 4

Question Number : 54 Question Id : 92090626678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The four-fold scheme of development of political organization-"band, tribe,
chiefdom and the state"-was espoused by :

1. Marshall Sahlins
2. G.P. Murdock
3. E. B. Tylor
4

Elman Service

Options :

920906105413. 1
920906105414. 2
920906105415. 3
920906105416. 4

Question Number : 54 Question Id : 92090626678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fadt T 918 7 % faera & R Fafefea agaid <o, saenfa, gfean
a1 Ig"- fhdd gR1 ufaurga faan ar ur

1. AYa Aefds

2. Gl 4l e

3. 3EITAW

4. U@HA 9idg

Options :

920906105413. 1
920906105414. 2
920906105415. 3
920906105416. 4

Question Number : 55 Question Id : 92090626679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The study of sound used in speech is called:
1. Morphology
2. Syntax

3. Semantics

4

. Phonology

Options :

920906105417. 1
920906105418. 2
920906105419. 3
920906105420. 4

Question Number : 55 Question Id : 92090626679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

|t § IUART H @15 o did (=t o 3{e00+ &I ol Hed 87

1. 3M1pid fagmH
2. d19g- [
3. ofY- fagm
4. WR- fagm
Options :
920906105417. 1
920906105418. 2

920906105419. 3
920906105420. 4

Question Number : 56 Question Id : 92090626680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who said that social stratification in India is based on "purity and
pollution"?

1. Louis Dumont
2. M. N. Srinivas
3. Leela Dube

4. F.G. Bailey

Options :

920906105421. 1
920906105422. 2
920906105423. 3
920906105424. 4

Question Number : 56 Question Id : 92090626680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRA H AT FadihH "Yedl a4 UgHor" IR S1URd € | 98 s fha og

82
. G S
. TH. T fifAarg
. dtargd
. U, off. g

= P =

Options :

920906105421. 1
920906105422. 2
920906105423. 3
920906105424. 4

Question Number : 57 Question Id : 92090626681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a tribal movement?
1. Chipko movement
Kol insurrection

Tana Bhagat
Jangal Katai Andolan

o

Options :

920906105425. 1
920906105426. 2
920906105427. 3
920906105428. 4

Question Number : 57 Question Id : 92090626681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g & & 1 11 el &1 siiea T8l 87

1. g sfidie

2. ®id f[dgle
3. dF 4T

4, ST HeTs e

Options :

920906105425. 1
920906105426. 2
920906105427. 3
920906105428. 4

Question Number : 58 Question Id : 92090626682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The prohibition of sagotra marriage is an example of:
1. Class exogamy
2. Caste exogamy
3. Racial Taboo
4.

Clan exogamy

Options :



920906105429. 1
920906105430. 2
920906105431. 3
920906105432. 4

Question Number : 58 Question Id : 92090626682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fadrg &1 Ay Y 7 9 fF9e1 3 82

. a1f afgfdarg

. oifd Sfefdarg
. yeIrterTd Fiftrgan
. A siefdar

Options :

920906105429. 1
920906105430. 2
920906105431. 3
920906105432. 4

B T A

Question Number : 59 Question Id : 92090626683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Historical particularism as an anthropoloaical approach was proposed by:

1. Franz Boas

2. Ruth Benedict
3. Robert Merton
4

E. E. Evans-Pritchard

Options :

920906105433. 1
920906105434. 2
920906105435. 3
920906105436. 4

Question Number : 59 Question Id : 92090626683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

UfderiRie tsiHyde &1 AAfAH gPiaiv & 34 H fag- uxdiiad faarn
1. hidl |13

2. Y dAfsae
3, ac HeA
4, 33 3a79- igs

Options :

920906105433. 1
920906105434. 2
920906105435. 3
920906105436. 4

Question Number : 60 Question Id : 92090626684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The inheritance rule that makes the eldest child heir of the property is
called:

1. Ultimongeniture
2. Equigeniture
3. Primongeniture
4. Patriarchy
Options :
920906105437. 1
920906105438. 2

920906105439. 3
920906105440. 4

Question Number : 60 Question Id : 92090626684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ISR 1 7 o Fad Ga8 921 GdF &1 &1 YUy &1 TBIUeR a1 g,
3 T HEd &7

HIRIEHR

HHTUHR

ISR

R

i .

Options :

920906105437. 1
920906105438. 2
920906105439. 3
920906105440. 4

Question Number : 61 Question Id : 92090626685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Marriage of a person to Fathers Brother's children or Mother's sister's
children is referred as:

1. Cross-cousin marriage

2. Parallel cousin marriage
3. Dydic marriage
4

. Exogamous marriage

Options :

920906105441. 1
920906105442. 2
920906105443. 3
920906105444. 4

Question Number : 61 Question Id : 92090626685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fOd1 & HIE & S=1 314al Al &1 died & g=1 & U1y {3918 &1 71 Fed g7
1. I9- S faarg
2. iR Hfe faare
3. feoig faare
4. Sfgfdars

Options :

920906105441. 1
920906105442. 2
920906105443. 3
920906105444. 4

Question Number : 62 Question Id : 92090626686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Applied Anthropology as a domain of knowledge relates to:
1. Theoretical conceptualization
2. Narrative analysis
3. Literary criticism

4. Use of Anthropology for public good

Options :

920906105445. 1
920906105446. 2
920906105447. 3
920906105448. 4

Question Number : 62 Question Id : 92090626686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

agI® AFfaTH 39 & by & | Haifda &2
1. gie duadisio
2. faarumers fagersor
3. wifgfd® smarE-n
4. HHARTH &1 Adue fgd & fer Iuam

Options :
920906105445. 1



920906105446. 2
920906105447. 3
920906105448. 4

Question Number : 63 Question Id : 92090626687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hindu philosophy advocates different stages of a human life. Arranged
sequence of these stages is:

1. Bramhacharya - Grihastha - Vanprastha - Sanyas
2. Bramacharya - Vanprastha - Grihastha - Sanyas

3. Bramacharya - Sanyas - Grihastha - Vanprastha
4

Bramacharya - Vanprastha - Sanyas — Grihastha

Options :

920906105449. 1
920906105450. 2
920906105451. 3
920906105452. 4

Question Number : 63 Question Id : 92090626687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{85 <2 A4 Sitad &1 fafi sraw1efi &1 G 81 39 Sfawi1sii &1 uel wH
39 USR 8-

Options :

920906105449. 1
920906105450. 2
920906105451. 3
920906105452. 4

Question Number : 64 Question Id : 92090626688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The distinction of state and stateless society was given by:

"

Edmund Leach
. B. Malinowski

Radcliffe Brown

A oW

E. E. Evans-Pritchard

Options :

920906105453. 1
920906105454. 2
920906105455. 3
920906105456. 4

Question Number : 64 Question Id : 92090626688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARG AT YT AeReare Tae § iR Fe & 3 feead gry foar man ur
1. USHS oid
2. . Acl-Igws!
3. YSfaas s3q

4. 3.3 3a9-aE

Options :

920906105453. 1
920906105454. 2
920906105455. 3
920906105456. 4

Question Number : 65 Question Id : 92090626689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The term "Rites de passage"” associated with transition of an individual from
one stage to other stage of life was proposed by:

1. Emile Durkheim

2. L. H. Morgan

3. Arnold Van Gennep
4

. Franz Boas

Options :

920906105457. 1
920906105458. 2
920906105459. 3
920906105460. 4

Question Number : 65 Question Id : 92090626689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy 3 T Weg AT & SiiaH 1 U a1V GEI sfawy1 § uRad |
Ydftrd g g feem ufcarfed fasar ur

1. Uil S
2. U9 U9 AR
3. Ml aF o-Y
4. Thiel S

Options :

920906105457. 1
920906105458. 2
920906105459. 3
920906105460. 4

Question Number : 66 Question Id : 92090626690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: The word globalization is often used to refer to "the massive
flow of goods, people, information, and capital across the globe."

Reason R: The process of globalization has resulted in the worldwide spread
of cultural features, particularly in the domain of economics and international
trade.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4

. Ais not correct but R is correct

Options :

920906105461. 1
920906105462. 2
920906105463. 3
920906105464. 4

Question Number : 66 Question Id : 92090626690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 ¢ Ho U T §: U 3HfSYA (Assertion A) & ¥ H fAIRad € ol g¥R1 39S
0] (Reason R) R ff;

HHHYF A: I Wed BT JUTRT S8R & "IX 3, 1T, 131 a1 goit b1
fay ¥ ouues yarg" & e ¥ a1 A g1

DRI RS0 DT Ufcha1 &1 ulom Fikgpiae fadvarst, faQwa: sfde aut
3ARTPTT ATIR 1 fay-aard! fawR 81

IR FYF & 3fdie H, i 73U M fawedl 7 9 99 Iuga o &1 999
HIfe:

1. ASIRRGHI U8l & 3R R, A S 9l TR &

2. A SR RTHI HEl § SR R, A P UE! ARSI e &

3. AYElE ARG LT ©

4, ATEITEl gOfPIR TS

Options :
920906105461. 1



920906105462. 2
920906105463. 3
920906105464. 4

Question Number : 67 Question Id : 92090626691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: The efforts to make people give up subsistence economy are
intended to get everyone to participate in the cash economy

Reason R: The state views hunting, gathering, shifting cultivation and fishing
as incompatible with individual ownership, cash cropping and the creation of
surplus

In the light of the above statements, choose the correct answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

Options :

920906105465. 1
920906105466. 2
920906105467 3
920906105468. 4

Question Number : 67 Question Id : 92090626691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



11 & ®yA AU 71 §: U SHUFHYA (Assertion A) & $U H iRad & ol g¥R1 39&
U] (Reason R}a?%—qfl';

SHTHFHYA A: AT GRT Siig4 Fale sifeaawi &1 18 ¢4 & g &1 S19d 8
Ul &1 Adhal SHTaw § YT & |

HRUI R: FAH- FULY, RIATARG SN d41 Tk - Tl Id Bt <P T aAfdaita
W@, THa] Baa adl ifEE Fafo & 9y R 81

I HYH & 3Mailed H, 1 fu 7 fabedl § 9 9ad Iugad I &1 994
GAIELE

A SR REFTTA E 3R R, A B UEl B 7

A SRR TT §IRR AP TR BT B

AT TAPAR ST R

AT R AfFTRIT R

o pa ok

Options :

920906105465. 1
920906105466. 2
920906105467. 3
920906105468. 4

Question Number : 68 Question Id : 92090626692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Lewis Henry Morgan proposed unilinear progress of society. The progress
formulated by him sequenced from simple to complex is:
A. Barbarism
B. Lower Savagery
C. Upper Savagery
D. Civilization
E. Middle Savagery

Choose the correct answer from the options given below:

1. £ B LA
BECAD
A DCBE
D,ACEA

B oW



Options :

920906105469. 1
920906105470. 2
920906105471. 3
920906105472. 4

Question Number : 68 Question Id : 92090626692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dfag g8 A A ufduiea far & gare &1 yifd teydia gidi 8 1 TRa ¥
Wfed & &H H 3UF gRI §15 715 WIfd &1 TR 9 UsR I |
. gaxdl

. g Sreitgqo

. 3 STy

. Wl

. e SRS

12 fau 0 faseul # & 9 Iuged IR &1 949 DifolT:
E.D,BCA

B,E,C,A D

A D, CBE

D, A CEA

m O M @ =

i o

Options :

920906105469. 1
920906105470. 2
920906105471. 3
920906105472. 4

Question Number : 69 Question Id : 92090626693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the sequence of theoretical constructs from newest to oldest.
A. Heliolithic Diffusion

B. Etic and Emic

C. Structural forms

D. Patterns of culture

E. Psychic unity of mankind

Choose the correct answer from the options given below:

1. ABCDE
EADCB
B,ADCE
A D CBE

AW

Options :

920906105473. 1
920906105474. 2
920906105475. 3
920906105476. 4

Question Number : 69 Question Id : 92090626693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Id-ad & urdiHad & o § g Seiiie Suddl o ogalyd o |
. G fgeivE

ufed quT ufis

. YHATSD TY

. Hpfd & Ued

. HFGd1 &1 e Udhdl

12 fou U fasmedl # & 968 Iuged IR D1 99 DIl
A B CD,E

E.ADCB

B,A D,CE

A D,CB,E

I

4o O8N o SR 1Ol - -

-l

Options :
920906105473. 1
920906105474. 2



920906105475. 3
920906105476. 4

Question Number : 70 Question Id : 92090626694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement |: The most and rapid way culture can change is by revolution a
usually aggressive and violent replacement of the society’'s rulers.

Statement ll: All people who are suppressed, conquered or colonized will
essentially rebel and successfully revolt against established authority.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement |l is correct

Options :

920906105477. 1
920906105478. 2
920906105479. 3
920906105480. 4

Question Number : 70 Question Id : 92090626694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A AP R E:
FYA |- Hifd- A1 BT FATS & ATHD| BT MHHSD adT g9 Ui g,
SR H&id ®I gRaldd H 31 Uaaad a4 Muerd f&5fd g
YA |I: § GHI G o SfHd §, SrefiF sruar IuFafE € wiftg st &
o sifFard $u ¥ @y qur fagie $31
IRIFT HYA & 3ald H, g fGU T fawedi 7 § 9l I &1 994 $ifofg:

1. HYF | 3R 1 TSt T

2. YA | 3R 11 FH1 7TAd 8

3. $YA | Yal g, dfchd FYF 11 Tad &

4. FYF T B, AT YT I TS B

Options :

920906105477. 1
920906105478. 2
920906105479. 3
920906105480. 4

Question Number : 71 Question Id : 92090626695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement |: Societies with a band type of organization are composed of
fairly small, usually nomadic groups

Statement II: Band is politically autonomous, with informal authority and
leadership role within the group

In the light of the above statements, choose the correct answer from the
options given below:

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true
Options :
920906105481. 1
920906105482. 2
920906105483. 3
920906105484. 4



Question Number : 71 Question Id : 92090626695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MR awERrE:

DY |: Teil UPR & HITSAT arel HTS FHfId $U ¥ BIC qUT WA
S el & e 9 8ld B

HU |I: & AoHfdd $U I W TY g & Sfavid SRS ASRT qun
AJd P YIS Id B |

SR FYA & 3Mdid #, A1 iU 70 faFedl d 9 18l IR F1 994 SIS

U | R ST Td &

HYA | 3R 11 ST 3 &

FUF | TH g, Ap- HUA 1| T §
FU | A ¢, AP B 1 I ©

P L B =2

Options :

920906105481. 1
920906105482. 2
920906105483. 3
920906105484. 4

Question Number : 72 Question Id : 92090626696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the Indian anthropologists associated with concept of sacred
complex.

A. M. N. Srinivas
B. S.C Dube

C. L. P. Vidyarthi
D. Makhan Jha
E. S.C.Roy

Choose the correct answer from the options given below:

1. Cand D only
A and B only
A and C only

B WM

D and E only

Options :

920906105485. 1
920906105486. 2
920906105487. 3
920906105488. 4

Question Number : 72 Question Id : 92090626696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ufes a9 Gafta yRdia ara faAdl &1 ugaE 1
A, TH. T, HifFam

B. TH. . gd

C. ua. . el

D. HIET 3

E. U9 4.3

1 fau 7 fased] # 4 9e8 Iuge IR D1 994 Hifed:

. HAAC AR D
. &dd A 3R B
Fad AR C
. HAAD AR E

AW N o=

Options :

920906105485. 1
920906105486. 2
920906105487. 3
920906105488. 4

Question Number : 73 Question Id : 92090626697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the major language families in India?
A. Indo-Aryan

B. Turko-Iranian

C. Austro-Asiatic

D. Dravidian

Choose the correct answer from the options given below:

1. Aand C only

2. AandB only

3. A, Cand D only

4. A Band Conly
Options :

920906105489. 1
920906105490. 2



920906105491. 3
920906105492. 4

Question Number : 73 Question Id : 92090626697 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd T UHE HTST URaR &F 9 87
A. $31- 1A
B. TR&I-ZUMTA
c. Sffel-ufmms
D. sdifsgd
12 f3u Tu faseul # 9 ¥ad Iugdd IR $1 99 Difelg:
1. ®ad A3RC
2. &dd A 3B
3. &dd A, C3RD
4. HAAA, B3R C

Options :

920906105489. 1
920906105490. 2
920906105491. 3
920906105492. 4

Question Number : 74 Question Id : 92090626698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

LIST I LIST II
A. Cross-cousin Marriage l. Nuer
B. Parallel-cousin Marriage Il. Chippewa Indians
C. Polyandry lIl.Toda
D. Ghost Marriage IV.Kurds

1. A-l, B-ll, C-1V, D-ll
2. A-ll, B-IV, C-lll, D-
3. A-l, B-IV, C-lll, D-lI
4. A-ll, B-1l, C-I, D-IV

Options :

920906105493. 1
920906105494. 2
920906105495. 3
920906105496. 4

Question Number : 74 Question Id : 92090626698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | BT g 1 Y e Sifog

[ sl
A S EE | 1 RIER
B. [HIR- i faarg| 11, e ssisi
C. [@gufda 1. [ereT
D. [IR1&f fdare V. [Fa

A-l, B-1l, C-1V, DAl
A-ll, B-IV, C-llI, DI
A-l, B-IV, C-lll, D-li
A-lll, B-l, C-1, D-IV

B Wk -

Options :

920906105493. 1
920906105494. 2
920906105495. 3
920906105496. 4



Question Number : 75 Question Id : 92090626699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST I LIST Il
A. Margaret Mead I. Symbolic Anthropology
B. Lewis Henry Morgan II. Structuralism
C. Clifford Geertz I1l.Cultural Personality
D. Levi-Strauss IV.Evolutionism

1. A-lll, B-lI, C-I, D-IV

2. A-IV, B-l, C-lI, DAl
3. A-l, B-lll, C-ll, D-IV
4. A-lll, B-1V, C-1, D-lI

Options :

920906105497. 1
920906105498. 2
920906105499. 3
920906105500. 4

Question Number : 75 Question Id : 92090626699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | 1 g 1 G fireE Sife
K&l Sl
A. [|Re dis . [rciispTare A4 faqr
B. [aifd¥ &=l ®HiTH| 1. [ERaHmare

C. [daws Mied | 1. [ipid auT safadd
D. [ddl- ¥19, V. [Prare

A-Ill, B-Il, C-I, D-IV

A-IV, B-1, C-II, D-lll

A-l, B-1II, C-II, D-1V

A-Ill, B-IV, C-I, D-Ii

o oo

Options :
920906105497. 1



920906105498. 2
920906105499. 3
920906105500. 4

Question Number : 76 Question Id : 92090626700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The earliest identified stone tool found so far came from:
1. Gona, Ethiopia
2. Narmada valley, India
3. Tepotzlan, Mexico
E3

Anatolian Highland, Turkey

Options :

920906105501. 1
920906105502. 2
920906105503. 3
920906105504. 4

Question Number : 76 Question Id : 92090626700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

32 9% Ui U 99 ¥ UrdiA YgaHaig U iR 9 U gu|

1. 7T, Sidaifaf

2. eI O], YRd

3. Ui, Afdad!

4. 3FEITA gIgds, gH!

Options :

920906105501. 1
920906105502. 2
920906105503. 3
920906105504. 4

Question Number : 77 Question Id : 92090626701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Lower Palaeolithic stone tool tradition is linked with:
1. Ramapithecus
2. Sivapithecus
3. Homo erectus
4

Homo sapiens

Options :

920906105505. 1
920906105506. 2
920906105507 3
920906105508. 4

Question Number : 77 Question Id : 92090626701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{5 qRTUTSTURBTE # UTOT SGRT 1 UTRRT el Weidd g2
1. THYRYHH
2. REmEdey
3. gHISEd
4. gH AT

Options :

920906105505. 1
920906105506. 2
920906105507. 3
920906105508. 4

Question Number : 78 Question Id : 92090626702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the most common and characteristic tools in the Acheulean tool kit is:
1. Bow and Arrow
2. Hand Axe
3. Needle
4. Knife blade

Options :



9209061055009. 1
920906105510. 2
920906105511. 3
920906105512. 4

Question Number : 78 Question Id : 92090626702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(e ¢ fdhe W ey Siftids urdl 9 are au 9ad [ ofieR & 91 87
1. o9 3R &0

2. &%- P3N (P 3_!}
3. @
4.

Options :

920906105509. 1
920906105510. 2
920906105511. 3
920906105512. 4

Question Number : 79 Question Id : 92090626703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Levalloision method of flake tool making belongs to:

1. Mesolithic Period
2. Neolithic Period

3. Lower chalcolithic Period

4. Middle Paleolithic Period

Options :

920906105513. 1
920906105514. 2
920906105515. 3
920906105516. 4

Question Number : 79 Question Id : 92090626703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el TR §9H P cdaiared fafd feeas Sefed g2

1. HEUNI A
2. FdUmNI] HTd
3. Y IR &1|

4. T QRGN0 T

Options :

920906105513. 1
920906105514. 2
920906105515. 3
920906105516. 4

Question Number : 80 Question Id : 92090626704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The earliest stone weapons in the Americans are Clovis points. They are
dated back to:

1. 50,000 years ago
2. 90,000 years ago
3. 11,000 years ago

4. 2,000 years ago

Options :

920906105517. 1
920906105518. 2
920906105519. 3
920906105520. 4

Question Number : 80 Question Id : 92090626704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SERYRT § ST UTNTv] BR Jelfad fawg g1 391 $1d fava oy gd &1
fFuffea = T g2

1. 50,000 99 gd

2. 90,000 @§ gd

3. 11,000 a8 gd

4. 2,000 99 g4

Options :

920906105517. 1
920906105518. 2
920906105519. 3
920906105520. 4

Question Number : 81 Question Id : 92090626705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The archaeological period defined in terms of presence of domesticated
plants and animals is termed as:

1. Chalcolithic
2. Mesolithic
3. Neolithic

4. Palaeolithic

Options :

920906105521. 1
920906105522. 2
920906105523. 3
920906105524. 4

Question Number : 81 Question Id : 92090626705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906105521. 1
920906105522. 2
920906105523. 3
920906105524. 4

Question Number : 82 Question Id : 92090626706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The dating methods giving indirect estimates are called relative dating
methods. One example of such dating method is:

1. Seriation

2. Carbon-dating

3. Obsidian hydration
4

Racemization

Options :

920906105525. 1
920906105526. 2
920906105527. 3
920906105528. 4

Question Number : 82 Question Id : 92090626706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 e iR faferdt St seer oW St 8, I T ra iR $8d g
Ut et PR fafirr &1 3areRu 2l

1. BUHHUI

2. FIEA- H1d o

3. fiedifEg SageH

4, THAEOEA

Options :

920906105525. 1
920906105526. 2
920906105527. 3
920906105528. 4

Question Number : 83 Question Id : 92090626707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Burin type tools are typically found at Lower Palaeolithic sites. Burin can be
prepared on:

1. Flake only
2. Flake and Blade
3. Blade and wood

4. Flake, blade and core
Options :
920906105529. 1
920906105530. 2
920906105531. 3
920906105532. 4

Question Number : 83 Question Id : 92090626707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

deolt UPR & SR fawy $u A 9 g Rie W uie §rd 8| daol @
fa W R fasa &1 9l 82

1. &dd e

2. e ayl YR

3. YR Yl &8

4. e, YR dUTHR



Options :

920906105529. 1
920906105530. 2
920906105531. 3
920906105532. 4

Question Number : 84 Question Id : 92090626708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The warm period between two glacial periods is called:
1. Interstedial
2. Interglacial
3. Interval
4

. Interpluvial

Options :

920906105533. 1
920906105534. 2
920906105535. 3
920906105536. 4

Question Number : 84 Question Id : 92090626708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<1 fewrt 3afirgl & & & IwI HTd $I 1 Fed o7

1. Sewefsad
2. SfaRfewdg
3. A

4. SRIfagd

Options :

920906105533. 1
920906105534. 2
920906105535. 3
920906105536. 4

Question Number : 85 Question Id : 92090626709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The examples of Pit Dwelling has been discovered at :
1. Chirand
2. Lothal
3. Burzahom
4. Bhimbetka

Options :

920906105537. 1
920906105538. 2
920906105539. 3
920906105540. 4

Question Number : 85 Question Id : 92090626709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TTdiar & 31830 19 # | el Ui 7Y 87
1. Ris
2. qud

3. goigH
4, MHdcH

Options :

920906105537. 1
920906105538. 2
920906105539. 3
920906105540. 4

Question Number : 86 Question Id : 92090626710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following sites represents the Lower palaeclithic culture?
1. Attirrampakkam
2. Bhimbetka
3. Bagor
4. Daojali Hading

Options :

920906105541. 1
920906105542. 2
920906105543. 3
920906105544. 4

Question Number : 86 Question Id : 92090626710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafaiead & 3 o1 wid 9 QR S1d Sl o ueikia dars?
1. SCRAUGSHH
2. HiHdes]
3. 9FR
4. grefiorel gfem

Options :

920906105541. 1
920906105542. 2
920906105543. 3
920906105544. 4

Question Number : 87 Question Id : 92090626711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following sites represents the Neolithic Culture?
1. Belan Valley
. Birbhanpur

2
3. Burzahom
4. Bhimbetka



Options :

920906105545. 1
920906105546. 2
920906105547. 3
920906105548. 4

Question Number : 87 Question Id : 92090626711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafifad # 9 19 91 ®d T3 §3%i &1 Yafkid Sl g2
. & =T
. feRvAgR

golein
tH G REa

AwN oo

Options :

920906105545. 1
920906105546. 2
920906105547. 3
920906105548. 4

Question Number : 88 Question Id : 92090626712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'‘Copper Hoard' culture of Chalcolithic India has been found from:
1. Kungi
2. Rajpur Parsu
3. Sohan Valley
4. Daojali Hading

Options :

920906105549. 1
920906105550. 2
920906105551. 3
920906105552. 4

Question Number : 88 Question Id : 92090626712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR JTH HRd &1 ' dF S WPia Hgl W Ul 71 87
1. it
2. ISR IRY
3. g urdl
4, SISl gfET

Options :

920906105549. 1
920906105550. 2
920906105551. 3
920906105552. 4

Question Number : 89 Question Id : 92090626713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mesolithic Period is well-known for:
1. Ring stones
2. Microliths
3. Megaliths

4. Celts
Options :
920906105553. 1
920906105554. 2
920906105555. 3
920906105556. 4

Question Number : 89 Question Id : 92090626713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WO 37 1 9 | 1 forges forg yedtuifa < S 82
1. dAfdd UhR & R

2. Y&H YRIPTH
3. ey

4. QU P

Options :
920906105553. 1



920906105554. 2
920906105555. 3
920906105556. 4

Question Number : 90 Question Id : 92090626714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a site of Indus Valley Civilization?
1. Rajpur Parsu
2. Surkotada
3. Cachar
4. Burzahom

Options :

920906105557. 1
920906105558. 2
920906105559. 3
920906105560. 4

Question Number : 90 Question Id : 92090626714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & I B 91 R 9rd 91 &1 ®id 82

1. Y U
2. Ublersl
3. ®BNR

4. golgW
Options :
920906105557. 1
920906105558. 2

920906105559. 3
920906105560. 4

Question Number : 91 Question Id : 92090626715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: Technologically advanced and complex tools were discovered
from neolithic and chalcolithic sites.

Reason R: Increased Cranial capacity and bipedalism among archiac Homo
sapiens led to upgradation in tool quality and complexity.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

Options :

920906105561. 1
920906105562. 2
920906105563. 3
920906105564. 4

Question Number : 91 Question Id : 92090626715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & Sy AU 71 §: U SHHSHYA (Assertion A) & I ¥ IREd g dl gaRI I9&
O (Reason R}%Wﬁ;

STHDHYA A: TIUTHIOT GUT IR el I ddb-ie! $9  IAd Ud Hicd
SR 9 77T 4|

BRI R: 3Te] U (WHa) § 9¢1 §3 SUTd &mar aut fguifear iRy «t
T[UTaT U Sfeerdl &1 JAfd DI SR faa)

SR $YH & el H, A1 fGu 7u fad el § 9 9e8 Iugad IR &1 9894
B

A 3R R T el § 3R R, A B Tl AR &

A 3R R IFT TG & 3IR R, A F1 el TR TS &

ATEI g AfFTR TS TR

AR el B APAR TR B

ol gl 1

Options :
920906105561. 1



920906105562. 2
920906105563. 3
920906105564. 4

Question Number : 92 Question Id : 92090626716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: The environmental changes during glacial period led to
emergence of various forms of flora, fauna as well as Acheulian stone age
culture.

Reason R: The glacial period, also known as the Glacial Age, was a period of
repeated advances and retreats of large ice sheets.

In the light of the above statements, choose the correct answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. Alis correct but R is not correct
4

. Ais not correct but R is correct

Options :

920906105565. 1
920906105566. 2
920906105567. 3
920906105568. 4

Question Number : 92 Question Id : 92090626716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e & ®YA AU 71 §: U AfUFHUA (Assertion A) & $U ¥ faifad g dl g¥RI 39D
Rl (Reason R}%Wﬁ;

3@y A feart g & vafavuli uRad=l 3 uredl, uxgsfi 9yt vegferm= umm
i H3pid & faftrd $di & snfauia &1 sprRR faarl

HRUIR: fRAF g & 9% &1 g7 o Sl il 81 98 [Ahr &1 RIghl a4l 3s
0% $ ATe3 & S{UEI0] B aiY g

JURIR HYA & 3fTdiw H, i AU 7 fah el # 9 el Iuga I o1 994
Hife:

A R R HA § 3R R, A BT Y&l ARBN &

A 3R R GHT 39T § 3R R, A B ¥el oS &

AT g AR AT &

AET EAPIRITE

oW oo

Options :

920906105565. 1
920906105566. 2
920906105567. 3
920906105568. 4

Question Number : 93 Question Id : 92090626717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following tool fabrication techniques from simple to compound
in chronological order:

A. Retouching
B. Cylinder Hammer
C. Direct Percussion
D. Pressure Flaking
E. Grinding Polishing
Choose the correct answer from the options given below:
1. ABCDE
2. EEADBC
3. CEDAE
4 EBCBA

Options :



920906105569. 1
920906105570. 2
920906105571. 3
920906105572. 4

Question Number : 93 Question Id : 92090626717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafifed SR §9H &1 de-iie] B 39d1 I3 I Yo Udhid & SMUYR TR
HIAHHAFTR AU P |

A. TIEH0]

B. dTAIPR guial

C. Wch& Srard

D. UER w1

E. ferge g gffers &=

12 feu e faseul # 9 Had Iuged IR &1 99 Difelt:
ABCDE

E ADBC

C,B, D AE

E B CBA

e e el

Options :

920906105569. 1
920906105570. 2
920906105571. 3
920906105572. 4

Question Number : 94 Question Id : 92090626718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following archaeoclogical sites on the basis of age of artifacts
found at each site, starting from the oldest to the most recent:

A. Brahmagiri
B. Belan Valley
C. Langhnaj
D. Adamgarh
E. Sohan
Choose the correct answer from the options given below:
1. B,CAD,E
2. EEB D, CA
3. BACDE
4. A/EBD,C

Options :

920906105573. 1
920906105574. 2
920906105575. 3
920906105576. 4

Question Number : 94 Question Id : 92090626718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e RIdETaT ®idl S Ude T IR 91 T R $ S & YR W)
RIG | TdH-aH & HHFHR oaiyd S

. SR

. S g1et

NIPEIE

HTCHITG

E. Wlg

12 fau 0 fasedl @ § Had Iuged IR &1 994 DifolT:
B,C,A D,E

EBDCA

B,A CD,E

A EBD,C

m =

2 N

e W

Options :
920906105573. 1



920906105574. 2
920906105575. 3
920906105576. 4

Question Number : 95 Question Id : 92090626719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement | : The upper Palaeolithic is characterized by the emergence of
art, population growth and new invention such as bow and arrow.

Statement Il : The period of cultural history known as upper Palaeolithic
dates from 40,000 years ago to about 14,000 years ago.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4

Statement | is incorrect but Statement |l is correct

Options :

920906105577. 1
920906105578. 2
920906105579. 3
920906105580. 4

Question Number : 95 Question Id : 92090626719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRIaFEReE
HYA |: T RIUNUGTA § Hall, S dfe aul Y=I8-a707 S -7 SR
& offaufa $i fa<mar ur 73 |
YA |I: I RIUNIUGHTA & Hipiad 3ol dI 3faft] 40,000 T gd I T
14,000 98 Ud 0 g |
SWRIF $YA & 3l H, Ad iU 1 fabedi & 9 981 I &1 994 i

1. ®YF1 3R 11 ST Tl §

2. YA | 3R 11 T TAd §

3. YA Wl g, Afh HYA 11 TTed §

4. HYF1TAd 8, Afh HYF 1| TET &

Options :

920906105577. 1
920906105578. 2
920906105579. 3
920906105580. 4

Question Number : 96 Question Id : 92090626720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |: Bhimbetka is the name of a cluster of a large number of caves
and rock-shelters in the Raisen district of Madhya Pradesh

Statement ll: In the caves and rock-shelters of Bhimbetka evidences of rice
cultivation have been found

In the light of the above statements, choose the correct answer from the
options given below:

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement 1l is false
4. Statement | is false but Statement Il is true

Options :

920906105581. 1

920906105582. 2

920906105583. 3
920906105584. 4



Question Number : 96 Question Id : 92090626720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRIFERTE:
DY |; H USRI & TIHA fore] H 931 Heam | qhrsfl quT Fer=l 31yl & g
&1 41 Hindes1 8|
HY |1 YiAaeHT B TH1s T ger nydl 7 o $1 Wit & T8y Ul T §|
JRIT HYF & 3did |, A 3T T fawedl & 9 T IR &1 994 Sifot:
1. PYF IR IGATI T §
2. BYA | 3R I S T &
3. PYA | I g, Alh- HUA || T
4. HYF | 3T g, AT YA 11 T 8

Options :

920906105581. 1
920906105582. 2
920906105583. 3
920906105584. 4

Question Number : 97 Question Id : 92090626721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the major types of Megalith?
A. Menhir
B. Hand-Axe
C. Dolmen
D, Cist
E. Chopper
Choose the correct answer from the options given below:

1. C, D and E only

2. A BandConly

3. A Cand D only

4. A BandE only

Options :
920906105585. 1



920906105586. 2
920906105587. 3
920906105588. 4

Question Number : 97 Question Id : 92090626721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafifad § 9 9= UeR & HemH $H 3 82
A, SreieH wY
B. - PR
C. WSSl gd
D. e
E. e’ /I
412 fau U fapedl # 9 v€d IugeEd IR P 99 Difel:
1. HAAC, D 3IRE
2. ®ad A, B3R C
3. ®dd A, C3RD
4. H9d A BIHRE

Options :

920906105585. 1
920906105586. 2
920906105587. 3
920906105588. 4

Question Number : 98 Question Id : 92090626722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the terms used to refer to Geological epoch?
A. Eocene
B. Cretaceous
C. Ordovician
D. Holocene
Choose the most appropriate answer from the options given below:
1. Aand B only
2. Aand Conly
3. Band D only
4. A and D only

Options :

920906105589. 1
920906105590. 2
920906105591. 3
920906105592. 4

Question Number : 98 Question Id : 92090626722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrofafEa 7 ¥ {62 yamf e g & de Ff IugeT & @ o 872
A. SITGE g
B. RICTEH
C. 3RSIfawgH
D. 3ff¥a g
12 fau e faseul @ 9 9a8 Iuged JTR &1 994 HIfoT:
1. $ad A 3R B
2. &ad ASIRC
3. ®dd A3RD
4. &dd A B, C3RD

Options :

920906105589. 1
920906105590. 2
920906105591. 3
920906105592. 4



Question Number : 99 Question Id : 92090626723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST I LIST Il
A. Kalibangan l. Rajasthan
B. Harappa Il. Haryana
C. Lothal Ill.Gujarat
D. Banwali IV.Pakistan

1. A-l, B-ll, C-Iv, D-lll
2. A-Ill, B-Iv, C-|, D-ll
3. A-l, B-IV, C-lil, D-Il
4. A-ll, B-I, C-lll, D-IV

Options :

920906105593. 1
920906105594. 2
920906105595. 3
920906105596. 4

Question Number : 99 Question Id : 92090626723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | BT 11 ¥ e S

K&l g

A, [BTeltETE| | RIS
B. [ | 1. [gfwmmon
C. [y | . fIoRTd
D. [@-ddit IU_[UTI%T?\‘FIH
A-1, B-II, C-IV, D-lI
A-1Il, B-IV, C-I, D-1I
A-1, B-IV, C-1ll, D-1I
A-1I, B, C-1lI, D-IV

-l O

Options :
920906105593. 1



920906105594. 2
920906105595. 3
920906105596. 4

Question Number : 100 Question Id : 92090626724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

LIST I LIST Il
A. Palaeolithic l. Daojali Hading
B. Mesolithic Il. Langhnaj
C. Neolithic IIL.Ahar

D. Chalcolithic V. Attirampakkam
1. A-l, B-ll, C-1V, D-lll
2. A-IV, B-ll, C-1, D-ll
3. A-IV, B-ll, C-ll1, D-I
4. A-IV, B-1ll, C-1l, D-I

Options :

920906105597. 1
920906105598. 2
920906105599. 3
920906105600. 4

Question Number : 100 Question Id : 92090626724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | 1 g 1 e Sifse

| Sl
A. [ORT9TST0 BTc | 1. [cTafelell gigT

HEAUTHTH el 11, [T

B.
C. [1d 9THTOT Ted| 1. (el
D.

ATHUER QHIA| V. [SERAUGDH

A-l, B-lI, C-1v, D-1lI
A-1V, B-ll, C-I, D-Il
A-1V, B-ll, C-ll, D-
A-1V, B-1II, C-1I, D-I

-l

Options :

920906105597. 1
920906105598. 2
920906105599. 3
920906105600. 4



